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State Forest Service Examination - 2014
(Provisional Model Answer Key)

Botany

Q1 : The pressure exerted on the cell wall by fluid content of the cell is known as:

IAT & HIASRT geT  IRT hITAAT fATcad IR STel ST dTel ST T hgd ¢

Wall pressure

afca e

Turgor pressure

FHIT g

Suction pressure

EALET

D

Osmosis

Ura3or

Answer Key: B

Q2 : Auxameter is an apparatus to measure:

JTFSIATHIER Teh T g, ST AT &

Respiration

SeEn)

Transpiration

D

Protein synthesis

HIEST HereyoT

Answer Key: C

Q3 : ‘Lock & Key theory’ for the mechanism of enzyme was given by:
TSITSH T FohATATE Y 'TTell Tdl TTell dTe; aRT fohdied Tl feha o

Ledeberg and Tatuom

JsTEIT UG cleH




Skoog and Miller

Tha1 T fAeR

Kogl and Haagensmit

FIT U gRTATEHT

Paulfields and Woods

D

didifthes Ud g3d

Answer Key: B

Q4 : Respiratory quotient is:
G IO §:

CO,/ O,

CO,/ O,

0,/ CO,

0,/ CO,

CO,/ NO,

CO,/ NO,

NH;/ CO,

D

NH;/ CO,

Answer Key: A

Q5 : Kreb's cycle takes place in:

el Teh gl &

Cytoplasm

Shageg &

Mitochondria

AgIRIiesdT &

Ribosome

TIEEH H

Peroxisome

D :
qIITFAETH H

Answer Key: B

Q6 : In G; plants the first stable product of carbon assimilation is:

C; UTeT H FTdeT HLAIYUT T T2 TARN 3c91E &




Phosphoglyceric acid

BB I 3o

Glucose

ECCIR]

S

Starch

TR

Pyruvic acid

Dtrm-afamm

Answer Key: A

Q7 : Bending of growing shoot or part of plant towards sunlight is called:
giee SR T 3127aT ATey & el $119T T A & ShTer T 3 ST Fgellell o

Photoperiodism

HIIRASSH

Heliotropism

IRERIMIE R

Hydrotropism

grsgiciisH

Photonasty

o [S—

Answer Key: B

Q8 : The number of molecules of pyruvic acid formed from one molecule of glucose at the end of glycolysis is:

Teh TeehloT 310] U TATShICIIATEH FshdT oh 3 H fohclal qrI&ideh 31Fel o 370] Fo1d &

Four molecules

TR 379

Three molecules

< 3]

Only one molecule

el Teh 370]

Two molecules

D

2 3y

Answer Key: D




Q9 : 2,4 Dichlorophenoxy acetic acid is generally used as:

2, 4 STFARITheATeRHT THTE 315l AT Tohd TIT 3TAT gIelT &:

Fungicide

chd<h oIIRIh

Weedicide

LA RIS

Pesticide

FreATes

Fertilizer

Ds-oha:

Answer Key: B

Q10 ‘Tikka disease’ of groundnut is caused by :
HIThell T feFhT AT & ARTEICT &

Fusarium

RIS

o

Colletotrichum

Fiferercsaed

Bacterium

SFRTH

Cercospora

qu’m

Answer Key: D

Q11 ‘Bacteriophage’ attacks on:
ST 3TTShATT I 8

Plant cells

qTeq IfRAhT H

Animal cells

9Toft AR H

Bacterial cells

Sfraroy hIfRrent 7




D

Mycoplasma

HIShICATTHT

Answer Key: C

Q12 Virus is made up of:

farsToy fo¥e=T o1 9= Bl &

Cell wall, cytoplasm and nucleus

FIfAfed, 9T geg Ud Fegeh &l

Cell wall and nucleus

FINITRATCT T hegeh shl

Only nucleic acid

ol wgjereleh 3o &l

D

Protein and nucleic acid

W T g feFeleh 3l T

Answer Key: D

Q13 Virus was discovered by :

Wﬁmaﬁraﬁ:

Darwin

CICE)

Stanley

ool

Robert Hooke

T

D

Iwanowski

SaTATaEh

Answer Key: D

Q14 Tobaco mosaic virus is made up of :

TIdeT Holeh TawTo] # grer 8

DNA

CAGRY

RNA and protein




3. UA.T. T N

RNA and DNA both

3IR.UA.U. U9 E).UA.T. AT

DNA and protein

D )
31U, U. U JiciaT

Answer Key: B

Q15 ‘Little leaf disease’ of brinjal is caused by:
96T A gyt Aer fhAh  aRT 3cUeet glell 8-

Bacteria

Mycoplasma

ARIHICATEAT

Actinomycetes

D

UideAATS TS

Answer Key: C

Q16 Cell wall of gram positive bacteria is made up of :

ATH HeATCHS SAT0] T HIvTTRTee T grell B

Mucopeptide

FIHIICISS

Cellulose

Tegolial

S

Chitin

Frsfest

Lignin

Di%r%rrr

Answer Key: A

Q17 Transformation in bacteria was studied by experiments on mice by:

SHTETOT & FUTEROT hT 3TEAT YT O FATT Y feh &t foham




Griffith

aifteer

Koch

B 1Y)
CaE)

Alexopoulos

MolFAarey

Zinder and Lederberg

o [N

Answer Key: A

Q18 Comma shaped bacteria are:

IAT Y JTehTel & ST gl &:

Steptococcus

EraArdCaCer:)

X

Diplococcus

IERCiCaE:)

Vibrio

[EIER

Spirillum

D
TATSEAH

Answer Key: C

Q19 Bacterium with tuft of flagella on one end is called :
Sfraro] SRR fSereh Teh Y IX FelfSTell T e ara ST &:

Monotrichous

AlcsHT

Lophotrichous

ATRICISHd

Atrichous

Ugreend

Peritrichous

Ddﬂasw

Answer Key: B




Q20 Process of preservation of milk is termed as :

oY T ARRFETT et T ITshaT Fgellch & |

Transformation

FYTAROT

Conservation

TL&TOT

Pasteurization

ATRI{ROT

Succession

D
3eIshHUT

S

Answer Key: C

Q21 Which is prokaryotic cell :
SN Teeh VT shieT W E :-

Bacterial cell

Sfraroy hieT

Fungal cell

arer T

Bryophyte cell

Fdeh PINT

Cell of gymnosperms

D
FATAd TSI HINT

Answer Key: A

Q22 Phycocyanin is present in :

R -FISHIATA AT I ST § -

Blue green algae

IR AareT A

Red algae

Tt dareT &

Green algae

& dara H




Diatoms

o IS—

Answer Key: A

Q23 ‘Red rust of Tea’ is caused by :
T & Gl 7 Tl fohee (Rust) 9T T HFROTE -

Diatoms

sSIgqucHA

Batrachospermum

<

Cephaleuros

1D

Answer Key: C

Q24 Fresh water alga commercially used as food is :

TITS STol H Ul STt aTelt Aarel ol sraanhsh &9 & $iofel g 39197 ol STl § -

Hydrodicyton

HEEIEERIG

Chlorella

FAIAT

Chara

HRT

Spirogyra

Dwsfmm

Answer Key: B

Q25 Chlorophyll-a, chlorophyll-b, carotene and xanthophylls are present in :
D FARIRA-T, FARIhA-A, aRifesT ta SN IR AT | -

Chlorophyceae

FARTBIIET

B | Chrysophyceae




FHIIATRIIET

Rhodophyceae

ATy

Phaeophyceae

Dﬁw—q’rq»—rq@r

Answer Key: A

Q26 Example of colonial alga is :
HSl T AaTel T 3ETEOT R -

Vaucheria

ar3ent AT

Oedogonium

EECIGRE

Chara

HRT

Volvox

D
Iicarey

Answer Key: D

Q27 Dwarf male filaments are present in :

QT 7 i Pt TR Y -

Oedogonium

EEEIDRE )

Chara

FRITH

Vaucheria

ATFHRAT H

Nitella

D aresonar

Answer Key: A

Q28 Cell wall of fungal cell is made up of :
Fash HINT FHT FIRETRCT T BT 8 -




Fungal cellulose and / or chitin

hdeh Hogellol Td/37YaT hrgfeet i

Cellulose

dogellst T

Mucopeptide

FIHIATCTSS hT

Lignin

R -

Answer Key: A

Q29 Reserve food material in fungi is :
FHahi T GFad Heg Ierd § -

Oil and Glycogen

I 37T TATRIRISTT

Starch

HUS

Glucose

Toehral

S

Protein

Dl e

Answer Key: A

Q30 Edible fungus is :
Glet ATT Hdeh ¢ :-

Alternaria solani

et dterag

Penicillium notatum

Yfafafos e

Ustilago hordei

eI gRES

Agaricus campestris

P e srmes

Answer Key: D




Q31 Generally, number of ascospores in an ascus is :

ATATTIT: YcJeh TR H TERITIT H TEAT gl § -

Two

ar

Four

Eight

SIL

Ten

D
cq

Answer Key: C

Q32 Which fungus is known as ‘blue green mould’ :
el T hdeh "siel g Aleg" FgelrdT @ -

Aspergillus

R STd

Peziza

CIETH

Cercospora

THIEIRT

Agaricus

Daﬁ‘}ﬁw

Answer Key: A

Q33 Life cycle of Puccinia graminis tritici was studied by :

gardifaaT IAfAw fefears & Sias T &1 37eaae fhas Ry foram arar ar -

Prof. Birbal Sahni

oY, SREe TTgair

Prof. K.C. Mehta

or. &, &Y. Agar

Prof. S.R. Kashyap

9I. TF. 3R, $HR—T




Prof. R. Mishra

b o, 3R, T3

Answer Key: B

Q34 Ergot is derived from :
39ife fradr ured frar STar @ -

Ephedra

gthgr

Claviceps

Foifaqed

Eucalyptus

gahfeorced

[N

Penicillium

[T —

Answer Key: B

Q35 Main plant body is gametophytic in :
AT Uled R JIAfee @ -

Bryophyta

SIS H

Pteridophyta

REwrEer &

Gymnosperms

SrreTa &

Angiosperms

D ~ -

Answer Key: A

Q36 Sporophyte is made up of capsule only in :
VI SheTel gl I TATBIATS -

Riccia

RfFaar #

B | Marchantia




AR 7

Anthoceros

TR H

Polytrichum

ol PP —

Answer Key: A

Q37 Nostoc colonies are present in which bryophyte :
fora STATRISE # ATECih AVSH ITT ST § -

Marchantia

A feaar

Anthoceros

TR

Funaria

FARAT

o

Sphagnum

D@wrrm

Answer Key: B

Q38 Rhizoids of bryophytes are :

STAThISTH & FHeITHTH Bl § :-

Haploid

B EIEG

9

Diploid

faarioTe

S

Triploid

[ECIES!

S

Tetraploid

Da-chﬁ?r

99

Answer Key: A

Q39 Peristome teeth are present in :

IRTAST AT AT E -




Marchantia

HTeh o I=T

Polytrichum

S EE T

Targionia

L IRIGEI

Anthoceros

D
TR

Answer Key: B

Q40 Pteridophytes are also termed as vascular cryptogams, because

TRERISCH FI HagaT fohcererey 8T Fgd & Fifeh -

Stele is present

ST Tl 9T STl &

Sporangia are present

e aa Y

Alternation of generation occurs

NfeAT ST TFhEaRuT BT &

Diploid in nature

D

R R

Answer Key: A

Q41 Characteristics of siphoriostele is :

ATSHAIEETST T ALTUT S -

Presence of xylem in the center

hog H SSAH IIAT SATAT &

Presence of phloem in the center

Fog H FAIH g7 SATAT &

Presence of pith in the center

Fog H Az (Fa2) iy Sl &

Presence of both xylem and phloem in the center

D

Feg F ATH IAT FelIIH Gl STTRIT &1 &

Answer Key: C




Q42 Amphiploic siphnostele is present in the rhizome of :

TFHIFel e ATIHAIECTS [ohdich S H IIY STl & -

Selaginella

IGRISGGIH

Equisetum

sfFaflieH

Marsilea

AT

Lycopodium

ol IR

Answer Key: C

Q43 Fossils are studied under the branch of :
P SlrarsaAt # e R e & Jiaetd R ST g

Paleaeontology

EICIEACI ]

Palynology

BUREICIE]

Palaeobotany

aforatestt

Forensic science

Dmﬁm

Answer Key: A

Q44 Age of fossils is worked out :
SHarsAT hr 37 foraehT FETIdr § 3ATd I ST &

By approximation

e HToT IR

By counting annual rings

FoTAT T IUTAT TR

By internal structure

AR T H




By radioacitve isotopes

) [ NP

Answer Key: D

Q45 Rhynia is associated with :

Tefaard@efaas:

Carboniferous

FTEffhE

Devonian

ECUGEGH

Permian

RIATA

Cambrian

Dl sommra

Answer Key: B

Q46 'Amber'is :
HETT G

Fossil resin of pinus succinifera

qISAd TFHTATHT b IToTeT T SIaTee

Fossil of fruit juice

Foll o TH T ST

Fossil of algae

arer &1 SareE

Fossil of fungi

D
&Hddh &l SIaTerH

Answer Key: A

Q47 Permocarboniferous is also known as :

RATRTST TR T R 313 AT A ST ST § -

Stone age

IRGIEE]

S

B | Wood age




hreogdr

S

Coal age

AT

S

Bronze age

D[
AT

9

Answer Key: C

Q48 Glossopteris flora belongs to:
TATATCERE FeIRT fohed Hefeid g :

Mesozoic

Gk ISIECE ]

Archaeozoic

3Tholiss &

Cainozoic

Heiloligsh o

Peromocarboniferous

quaﬂa’fﬁrmﬁ

Answer Key: D

Q49 The book 'Origin of species' is written by:
P 3IRGT 3Tt TRl gEch fohdeh AR forddh 97 -

De Vries

[ECIE]

Weismann

EEEC)

Darwin

CICE)

Bentham and Hooker

D

a‘emua'ga»-{a: arT

Answer Key: C

Q50 Spermatozoid seen by naked eye are produced in:

3ol 3G § G@rs ot arel A fohddl Scqeat g1 & -




Cycas revoluta

arshE Rateger

Pinus roxburghii

TSI AFHEINS

Gnetum ula

e 3o

Pinus wallichiana

Dtnsaﬂaﬁlﬁuw

Answer Key: A

Q51 Pinus needle in internal structure reflects the features of :

IS T AISel Sl AT eh TITAT H oT8T0T YG I il § :

Hydrophytes

G IS ICAE: Y

Xerophytes

ARCTAG

Epiphytes

SR

Halophytes

Daavﬂafﬁa

Answer Key: B

Q52 In gymnosperm, seeds are naked, because:
AIASIST & Gl H ST 19T g g, Fifeh

Seed coat is absent

ISRt 3ea e giar &

Fruitwall is absent

eIfifed 3efafeard

Cotyledons are absent

ST 3T EYd

Endosperm is absent

Daqyrcfrsramjﬁaa

Answer Key: B




Q53 The term 'Genetics' was coined by:

SAfeed 2lec, fhdsh  aRT AT 31T

Mendel

#AsoT

Bateson

Seas

Weismann

[ESEC)

Khorana

D
LT

S

Answer Key: B

Q54 Quiesent centre concept was proposed by :

Qe &YF T e Uell fohdah  aRT YEATTAT ot Iy ofY

Clowes

Felleq

Nageli

GIEIC])

Hanstein

gafesT

Schuepp

D
YUy

S

Answer Key: A

Q55 Which of the following is living :
ST § FleTHT FIRAHT AT BN & -

Tracheid

CUGEAY

Vessel

arfgepTd

Fibre

wQr




D

Parenchyma

Hods

Answer Key: D

Q56 Mesarch xylem is a characteristic feature of:

ot STsereT fafse oeToT §

Root

SE]

Stem

GGU

Fern Rhizome

Pol Tehoc,

D

Cycas Rachis

s & IR H

Answer Key: C

Q57 Passage cells in root are present in :

318 H AT FHIT¥RIT fohaat 3UTEIT I ¢ -

Epidermis

STEg ca

Endodermis

3edh: cad

Pericycle

LIEeC=:)

D

Cortex

g H

Answer Key: B

Q58 Example of viviparous germination is:

oI 30T &7 3ETEROT E -

Onion

el

Carrot




MY

Rhizophora

TSABRT

Potato

D
3iTel

Pl

Answer Key: C

Q59 In pitcher plant, pitcher is modification of:
FHOTT UG H FHorel fhaenT FT=d0T g :

Stem

el

Leaf

el

Root

SE]

Flower

D
g

S

Answer Key: B

Q60 Example of water pollinatim is :
STeT URTITUT T 3ETER0T &

Salvia

gifeaar

Vallisneria

CIGEGIRE ]

Ficus

hIgehd

Orchid

Dl fss

Answer Key: B

Q61 Entry of pollen tube through integuments of ovule is :

R AferenT i fafe demusiAfcaat @ g §, a9 38 @ed &:




Porogamy

R

Chalazogamy

EREIC/E

Mesogamy

EIEIEIE

Isogamy

b 3TEaERHT

Answer Key: C

Q62 Endosperm in angiosperm generally is :

31TqT TSI ohT 0TI HIHTACT: BIclT 8-

Haploid

e EINGH

9

Diploid

faarioTe

S

Triploid

[ECIES!

S

Tetraploid

b ELOIEG

99

Answer Key: C

Q63 Dispersal of seeds by 'Censer mechanism' is observed in:

Jox frarfafer  ary <iat o [feor P garg:

Pea

AKX

Poppy

grEd

Cotton

Onion

D
el

Answer Key: B




Q64 The process in which hydrogen sulphide is converted into water and sulphur by bateria is :

g Yk forae SNaTo] gT8gietel Hethiss & il vd artreh 3 gRafdd i §:

Photosynthesis

TehTRT HLTNUT

Chemosynthesis

HAraafaa

Respiration

qHeT

Growth

Dlore

C

Answer Key: B

Q65 Lichens growing on rocks are designated as:

T I IR ST aTel ollSehed ol shgdl &

Arboreal

IRERT

Terricolous

Hreprer e

Saxicolous

afFaered

Ornicolous

Daﬂvﬂﬁw

Answer Key: C

Q66 Asepetate, multinucleate, filamentous vegetative structure is designated as:

TeTafR, SRR, Tead, ATHI TAT T hed &:

Coenocytic

BEQIRCOR

Intracellular

ed ARABT

Holocarpic

eeiteRITien




D

Intercellular

AN

Answer Key: A

Q67 Palynology is the bracnch of biology that deals with the study of :

UeliArelre shafaaireT $r ag eamaEr § ST ey frar rarg

Pollen grains

RIETeRUT T

Only bacteria

haol SaTuL3it 1

Microorganism

e-ASal

D

Only fungi

Hdof hdeh &l

Answer Key: A

Q68 Ethylene is related to :

R R S

Climacteric

ForsAfFeRe

Aerobic respiration

3TFERTHT

Fermentation

foruger

D

Anaerobic respiration

IATFEIRTHA

Answer Key: A

Q69 The end product of terminal oxidation is :

efAeer 3erdieror T 3faF 3 |

NADH

TA.T.3I.Td.

Oxygen




TSI

ATP

TG

ATP and water

b T &9 vg urer

Answer Key: D

Q70 Respiratory quotient of sprouting potato is :
37 Rl 31Te] T LEHT I[UTIeh Bl & :

Less than one

Teh J o

Only one

FHdd T

More than one

s ¥ A¥s

Zero

D
T

Answer Key: B

Q71 Flowering in short day plants is stimutalted by:

B foreT arer el 3 qoueT R fred 3R Sl § -

Short days and interrupted nights

B T Ug cgaene arell T

Short days and unintrerrupted long nights

B & vg gdd o« Id

Short nights

BT

Long days and short night

Pl racodm

Answer Key: B

Q72 Azolla is used as biofertilizer as it has:

TS T 3TANIT AF-397h o 9 A ohar J1ar & Faifer 398 3ufeaaga g :




Rhizobium

ERIERE

Mycorrhiza

ATGRRISSIT

Cyanobacteria

13T SFafar

Fungus

D
hden

Answer Key: C

Q73 Hybrid vigour is due to:
o FROT 8 Fa NS BT |

Self pollination

EAUITITOT

Homozygosity

FHYIATATT

S

Heterozygosity

ICAEREEIGEI

S

Linkage

D
TgoIIaTdT

Answer Key: C

Q74 An albuminous seed showing hypogeal germination is:

VoA st St 3reneffAieh sigRoTeiar g, MeT A Qi arg :

Castor

IS

Pea

Maize

Gram

D
Yol

Answer Key: C




Q75 Cotton fibers are:
FUH A FATET 6

Xylem fibers

KIECE RN

Phloem fibers

Tl et

Leaf fibers

ot ¥

Surface fibers

b HAr 2T

Answer Key: D

Q76 The source of natural rubber is :
STehfcieh ToR T T FAT

Hevea brasiliensis

IRERICIEICIYCE]

Ficus benghalensis

FEhd STl edd

Ficus religiosa

wrgehd Rfaforarar

Calotropis procera

D et s

Answer Key: A

Q77 The alkaloid 'Reserpine' is obtained from :
RART TS 3cdhel1ss [T IIey & 9o fohar ST g:

Ocimum sanctum

HITAHA doFeH

Azadirachta indica

3renfeieer sfesat

Rauwolfia serpentina

arfewar adfsergar




Strychnos nuxvomica

D%ammawaﬁa:r

Answer Key: C

Q78 Food chain starts with:
T T HGell TR el 8

Producers

3caceh

Consumers

3UHFAT A

Secondary consumers

s 3uear &

Decomposers

Dm@r

Answer Key: A

Q79 Largest amount of fresh water occurs in:

TaTS STl T AT AT e 7 & FHgl a1 ST &

Lakes and streams

Sitel Ta AT A

Rivers

B

Polar ice and glaciers

T T e Ry

Underground water

D
ST ST

Answer Key: C

Q80 'silent valley' having rare plants and animals is located in :

"Ml EITET" STET GeleT UTed Ud FToft 9T STt §, el (el g :

Kerala

el

B | Karnataka




Felledh

Assam

FaH

Madhya Pradesh

D
AEITELT

Answer Key: A

Q81 Non - conventional source of energy is:
FAT T TIFRTTT FAA g -

Coal

I

wood

oTehar

petroleum

UeIfergd 3curg

Solar energy

o FS—

Answer Key: D

Q82 Minimata disease is due to which pollutant:

TATHATAT T T Ygueh & HROTEIAT S -

Lead

orar

Sulphur dioxide

HoWST HTFHTSS

Mercury salts

URT & IguT

Carbon mono oxide

D FleeT HT HTFASS

Answer Key: C

Q83 Ultra-violet radiations in sunlight cause a reaction that produces:

A & Teh1T H WISTAT fhom @ i Foha gl &, 368 1 ATHT grer g -




Carbon mono oxide

FIeeT A=l 3TFarss

Sulphur dioxide

HoWST HTFHTSS

Ozone

St

Methane

D o

Answer Key: C

Q84 'Cyathium' inflorescence is present in:

"SR qeushar" fohae qraT ST g :

Pea

A

Euphorbia

REITRI

a

Wheat

g

China rose

D
Isgel

S

Answer Key: B

Q85 Verticillaster inflorescence is present in:

"SHeTsheh" JEUshH TR el H IRATSATCATE -

Poaceae

qredr

Solanaceae

Hreler T

Lamiaceae

AT

Malvaceae

D

ATera AT

Answer Key: C




Q86 Basic unit or lowest taxonomic category is:

3R SHIS AT HIH BIET FaffehIoT 1 Hofy FATE

Family

ol

S

Order

oy

Genus

R

Species

anﬁ?r

Answer Key: D

Q87 Condition of fused anthers but free filaments is called:

YRR oh TRTIThIY JTE H HFehel 81 ST & o] Yoo JUh B &, 30 i g 8 -

Syngenesious

PERCIL

S

Synandrous

. .

S

Epipetalous

Goleldelch

monoadelphous

D .
THTE!

Answer Key: A

Q88 Process of translation is:

3fefdTeeT (SITeIRIeT) I fohaT § -

RNA Synthesis

3. U T, HWOT

DNA Synthesis

ERGAURECL

Protein Synthesis

HIETT HLATOT




D

Glucose Synthesis

T[St HRAOT

Answer Key: C

Q89 The discovery that led to the development of first antibiotic was made by:

ﬁmmﬁqﬁmqﬁéﬁmmmgmm IR &7 IS AT -

Jenner

IR

Fleming

ol AT

Waksman

qiFgHT

D

Pasteur

qrRTR

Answer Key: B

Q90 In which ecosystem the pyramid of biomass is inverted:

g TIRFEATIH a7 F FTHR F1 JeeT AT s7a1§ -

Aquatic ecosystem

STelt gTRfEufaeh o=

Forest ecosystem

EG RIS IRCINCE]

Grassland ecosystem

o Herel TR Eufasdh a7

D

Agriculture ecosystem

ey TR i

Answer Key: A

Q91 Which biogeochemical cycle is sedimentary cycle:

o1 & O hleT A1 Sig-3 I T¥eh Tsh HTHE Th & -

Phosphorus Cycle

FREBRY THh

Carbon Cycle




FIaeT T

Nitrogen Cycle

GESGEED

Hydrological Cycle

D
ool Tsh

Answer Key: A

Q92 Synthesis of DNA over RNA template is called
HR.TA.U. & CFIIC IX S1.UA.T. & HITUT &l hgel & :-

Transcription

3T @el

S

Translation

3fedcsT

S

Reverse transcription

Read sreferaeT

Initiation

D .
HARHA

Answer Key: C

Q93 Early blight disease of potato is caused by:
3o #H 313V 3TARY AT fohdeh HROTIAT S -

Phytophthora infestans

BIICIFURT SeTthecd

Albugo Candida

3TeqaN hiessT

Alternaria Solani

e RAT HielATs

Fusarium Species

D

TS RIS TS

Answer Key: A

Q94 Citrus canker disease is caused by:

SHie 3T el AT fohdieh HROTBIAT © -




Fungi

hden

Bacteria

D

Mycoplasma

ARIHICATSHT

Answer Key: B

Q95 The phenomenon of Heterothallism was studied by

A Soraar i gear o1 37eTa forass  ary v a3 -

Alexopoulos

MolFAarey

Blakeslee

Solhdell

K. C. Mehta

&Y. Agar

D

S. K. Chowan

Tg.&. digeT

Answer Key: B

Q96 Increasing skin cancer and high mutation rates are the result of:

T HEX T 3cIRAcTT FT Tl &3 T HRUT -

Acid rains

37l auT

Ozone layer depletion

3G I T &TOT

Carbon mono oxide pollution

et Al HTFHTSS TGO

D

Carbon dioxide pollution

SHTelel ST JTFHISS TGHoT

Answer Key: B




Q97 Fluid Mosaic model of plasma membrane was given by:

CATSHT TSieell T Fegg Hloleh AlSd fear 4T -

David Robertson

SEEREIR O]

Daniel and Davson

sfAuer g ST o

Knoll and ruska

ATl U SR o

Singer and Nicolson

D IR T RPreaT

Answer Key: D

Q98 Which cell organell is important for glycolate matabolism:

TARIEIAIC TATTAY § et HT PITAHT 33T Ageaqor § :-

Endoplasmic reticulum

3ed: vgad Sforer

Peroxismes

R

Dictyosomes

S

Glyoxysomes

D

TATSITFAAH

Answer Key: B

Q99 Incomplete dominance inheritance was studied in which plant:

30T T &1 3reaTeT fone arey # faam arm 2 -

Mirabilis jalapa

IGRUCIGE RS GIRI

Pisum sativum

qrsdH AersadH

Ficus religious

FrSehd el for3ar




Dichanthium annulatum

Dglgé#ﬂﬁugﬁw

Answer Key: A

Q100 Molecular Scissors' used in genetic engineering is:

3TegaifRreh 3TAIITIRT 7 "310aeh 2l & &7 A oot H & Fhgept IUAT AT S -

DNA ligase

ERGRMCIETI

DNA polymerase

3 UA.T. GrelasT

Restriction Endoruclease

UEghere Tosigfaervst

Helicase

D%ﬁ»ﬁm

Answer Key: C

Q101 When centromere is situated exactly in the center of chromosome it is called:

T AT foraes St A # e AR 3URRU Q1T § 3H FEA § -

Metacentric

Aelfecd

X

Telocentric

dronafeeen

Acrocentric

ThAeeh

X

Submetacentric

D
FaRecAlcesh

Answer Key: A

Q102 Balbiani rings are present in which chromosome:

Sifeaari gord fond o # 3URRAT 8§ -
Salivary gland chromosome
A .
AR Y R

B | Lamp rush chromosome




GERENEIEEl

B - chromosome

Y- aqoTe

D

In all types of chromosome

Tl YhR & UG A

Answer Key: A

Q103 In which stage of prophase -I the chiasmata formation takes place:

FITSTHCT [AATOT WthaT g2 T T aTAT H T g

Leptotene

AT

Zygotene

ST

Diplotene

[ECidC)

D

Pachytene

SEaniC)

Answer Key: D

Q104 Example of Allopolyploidy is :

TREGITOTAT T 3eTeT0T & -

Wheat

e

Gram

Pea

A

D

Tomato

CTHICY

Answer Key: A

Q105 One nuclesome core contains how many histone protein molecules:

e TN 1 I 3 RSt DT &5 Reeiet IR Y -




> <IN B N I \S ) I S i e N e

D

8

Answer Key: D

Q106 The tendency of two or more genes to remain together in the same chromosome during heredity transmission is:

STeT &1 AT 318k S Ueh €1 JURLA TR UTE-UTH T8 gl & Td HTY-H1Y GRATI9Tcl 81t &, T gl & -

Crossing Over

ICIGEE]

Linkage

TgoIIeTdT

Independent assortment

T 3egge

Dominance

anqTfaaT

Answer Key: B

Q107 The best timber yielding tree in the forest of Madhya Pradesh is:
HEGYCRN o el H FAASS SARCH ofehs! YeiTel el el JaT & :

Tectona grandis

TFelar Infesy

Butea monosperma

sgfear AT

Bauhinia racemosa

s Y

Aacia lencophloea

D

T AT IR T3

Answer Key: A




Q108 The alkaloid morphine is obtained from:
AT ehelrds ITed g & -

Bombax ceiba

ST GeT

Papaver somniferum

J9aR G

Euphorbia nivulia

goitear fagferar

Haldina cordifolia

Dmaﬁuﬂﬁm

Answer Key: B

Q109 In the plant Bt cotton, Bt stands for:
91y Bt Shics] H, Bt T Alcad §

Biotech

Jraees

Berlin transform

afeleT grawre

Bacillus thuringiensis

S YRATST=aH

Bud tissue

D
gs fegg

Answer Key: C

Q110 The plants adopted for saline soil or water are:

AU TAEY 31T STef 7 3HeJhfoldd dereafd wgellc ¢ :

Xerophyte

ML

Halophyte

EIEAE

Heliophyte

INERILIE

D | Mesophyte




[GRIRIE

Answer Key: B

Q111 Information in 'Red data book' is related with:
"elTeT 3TTehsT T H FAATY Fhad Heferd gl & -

Flowers of Red colour

T a7 & st &

Insects of Red colour

AT T h Hler y

Fish of Red colour

Tl T Asfoat

Endangered organisms

D TheTdesT Siar 9

Answer Key: D

Q112 Hot spot means:
S ffRuarF gic Wie A acad g

Hot region

I geer

Sensitive area with rich biodiversity

Sta fafaerdr & waee daeTeirer &

Sanctuary

R

National Park

D
TET 3 ATel

Answer Key: B

Q113 The degree of dispersion of a species in an area, represented by percentage is:

goliTa & fordT &Y & faawoT & 2ol o gfaera Wit aRTweRid aRa &, A aed &

Density

Yelcd

Frequency

Agfed (FRESTRAN)




Abundance

§("

Basal area

D

3T &

Answer Key: B

Q114 Absorption of infrared radiations by green house gases, especially by carbon dioxide, in the atmosphere that is
reradiated from the surface of earth is known as:

ATeTeRoT # 33 faferor &1 i g3 3 & HEad: SIS Jiferargs  ary raiyor, f5d g i @
ﬁgﬂ:%ﬁﬁaﬁmm&m%:

Atmospheric imbalance

Radiator record

afertor Reprs

Climatic climax

STeraTgdg TRA

Green house effect

D
T 13T THTT

Answer Key: D

Q115 Central sugarcane breeding research institute is situated at:

Lucknow

el

Coimbatore

FIIFT

[N

Mumbai

A

Kolkata

Daﬁaa»—crr

Answer Key: B

Q116 Cloveiis:
dferg:




Flower bud

gmﬁ%@r

Thalamus of flower

T o Yelay T

Seeds

EIE

Fruit

D
el

Answer Key: A

Q117 Central potato research institute is situated at:
HrOI 3o HTHUT HEUTT AR :

Lucknow

e3>

Cuttack

$heh

Coimbatore

D

Answer Key: D

Q118 The science dealing with relations of plants with different tribal societies is called:

I 311eT ST g T Torae qie 1 Feer e Serafadt & G A8 aTe, 3T Fea &

Ethnobotany

AT

Economic Botany

PEPSE

Ecology

Sehrellal

Anthropolgy

D . 1Y)
Tt

Answer Key: A




Q119 Gentically engineered human insulin is synthesized with the help of:
AT STt T HLATT JTa1RIeh TR 7 fo¥e=T hr Fgraar & fFhar Sirarg

Rhizopus

TSSTH

Pseudomonas

TEAEAE

~

E. coli

S. IS

Agrobacterium

ol -

Answer Key: C

Q120 One of the following bacterium is a vector in genetic engineering:

3TTIaiiRreh 3TAGTTIRT F foie=t 7 & hleT AT SAT0] T deFex o §G A SUANT AT AT & |

Bacillus thuringiensis

Srerd gt aw

Salmonella typhi

HATeAT oIl SI3HT

Agrobacterium sp

TISFEIRTA YaATfer

Bacillus amyloliquefaciens

D e e e

Answer Key: C

Q121 Which among the following is a synthetic plant hormone:

STH U HieT HRATIT TTET gTANT & :

TIAA

3TTSUT (IAA)

GA

ST (GA)

2,4-D

2,4-31 (2,4-D)




ABA

b THIT (ABA)

Answer Key: C

Q122 The pigment present in the pigment system-1 is:

g TerHe i Rerde [AEeH-1 7 3UTEIT 8T &

P00

P00

Pess

Pess

Peso

Peso

Peoo

D

Pesoo

Answer Key: A

Q123 When co-enzyme combines with apocenzyme it is called:

SIS hY-UrolSH TTUT TAIUSTSH 3T9H H HJeFcl 8l &, I 96 Heellcl o :

Co- factor

FI-tharel

Prosthetic group

EIEILCREE

Isozyme

TSRS H

Holoenzymes

D[

Answer Key: B

Q124 CAM plants are:
W TTA. (CAM) Therr g

Euphorbias

gwifearg

a

Mango

3H




Apple

ag

D

Wheat

pe

Answer Key: A

Q125 An enzyme that join the ends of two strands of nucleic acid is called :

ag TSITSH ST wgfeFoleh 319l &l &l STl & B A HTHH SNSAT 2 T & -

Polymerase

CICIEEE )

Liagase

CIEDIS ]

Helicase

GIET

D

Synthetase

Hes

Answer Key: B

Q126 Eukaryotic 80s ribosomes are made up of :

THTANTEH 80s TS EA a7 A FATBIATS |

40s and 40s sub units

40s TUT 40s 39 SFHIS J

60s and 40s sub units

60s TAT 40s 39 SHIS

60s and 50s sub units

60s TAT 50s 39 SHIS

D

50s and 30s sub units

50s AT 30s 39 SHTS

Answer Key: B

Q127 ATP, the energy currency of life is synthesized in :

HITRIRT F Fiotl T FHoT T.ELUY. T HLAATT HITRAHT & v T H 1T S -

A

Nucleus




oo

Mitochondria

AT

Ribosomes

TEAEH

Golgi complex

D?ﬂ%ﬁmﬁw

Answer Key: B

Q128 The cell theory was proposed by:
HITRAHT o FAEETT T TATLH fohder ST 27 -

Avery and Mc Leod

Tl vd Asferdis

Hershey and Chase

AREEE)

Schleiden and Schwann

IR EGRERIG

Beadle and Tatum

D CIEGRY R

Answer Key: C

Q129 Which is the smallest cell organelle :
T OIeT HIAPT 379TH ¢ -

Ribosome

SECIRIE]

Lysosome

CIENIEIE]

Spherosome

EHRIEH

Glyoxysome

Dmmmw

Answer Key: A




Q130 The chemical formula of Chlorophyll-b is :
: FARI T er-al &1 TErfoleh 8-

CssH7,0sNMg

CssH7,0sNsMg

CssH7,0sNsMg

CssH7,0sNsMg

CssH70OsNsMg

CssH70OsNsMg

CssH700eNsMg

D

CssH7006NsMg

Answer Key: D

Q131 The sequence of cell cycle is :
: ITRAHT Tsh T A BIcT & -

G2-S-G1-M

G2-S-G1-M

G1-S-G2-M

G1-S-G2-M

M-G2-S-G1

M-G2-S-G1

M-S-G2-G1

D
M-S-G2-G1

Answer Key: B

Q132 Mitotic divisions required to produce 128 root cells are :

TS # 128 1T Fllel o ToTT HHEH TS B1aTT -

05 times

059X

06 times

06 I

07 times

074X

08 times

D
08 dIX

Answer Key: C




Q133 Crossing over involves :

fafeea 7 enfAer grar @ -

Addition of Chromosomes

OREE 7 TG

Deletion of Chromosomes

ORI 1 F g

Exchange of Chromosomes

TOTHAT T 3T Tl

Duplication of Chromosomes

et a7 e

Answer Key: C

Q134 The technique used for separating DNA fragment is :
g eheiich ST SY.TA.T. Y b T ST & T8 FEelcl @ -

Southern blotting

HEA seaTear

Northern blotting

T selTfear

Western blotting

JTCHT selTfedr

Estern blotting

ol FrE——

Answer Key: A

Q135 The number of hydrogen bonds between G and C bases is :
G T C &R & HEY 3UTEA gISglolel Sl hr HEATFIAT & :-

1
A

1

2
B

2

3
C

3
D |4




4

Answer Key: C

Q136 Which of the following genotype represents a true dihybrid condition :

STH T PIeT AT NAICTSY, AEATIH SBTSING JTTAT YR HIAT S -

ttrr

ttrr

Tt

Tt

TtRr

TtRr

ttRR
D

ttRR

Answer Key: C

Q137 Phenotypic dihybrid ratio in F2 generation is :

F2 §fc 7 BIAersy STIgsiss &l 3e]drd gl g -

1:3

1:3

1:2:1

1:2:1

1:1:1:1

1:1:1:1

9:3:3:1
D

9:3:3:1

Answer Key: D

Q138 Which of the following is a non-sense codon :
T A A AA-TT PIBA & -

UAA

UAA

AUG

AUG




UGC

Answer Key: A

Q139 Periderm is made up of :

A TN g & -

Phellem

tola I

Phellogen

treiratet T

Phelloderm

thellsH

D

All options are correct

s AT T & |

Answer Key: D

Q140 The transport of water in plants takes place through :

g A aref FTagaT eI & aRIEarg -

Phloem

FAIgH

Xylem

SIS H

Sclerenchyma

TheleThIgAT

D

Fibres

wQr

Answer Key: B

Q141 Nitrogen fixing bacteria are associated with the plants belonging to family :

ATgEToTeT REARIeRT0T et dTel SitaTo] foieT ot & Gtert & Hefera glel & -

Graminae

ATAAT

Leguminosea

regfaaEr

o




Malvaceae

Aleadr

Cruciferae

D

HETHIT

N

Answer Key: B

Q142 Double fertilization is characteristic of :

ICIGAEGRGE KA RCE 1y

Angiosperms

[YEDIEEd

Gymnosperms

fSrrteTsy

Pteridophytes

ARE DT )

Algae

D
Tealr

Answer Key: A

Q143 Linnaeus system of plant classification is :

Ty o1 gefientor gl & fore ey ar 3menRa § -

Artificial

COEr ]

C

Natural

OTehicieh

C

Phylogenetic

FSdlolalicah

None of these

D

o1 Q FIS e HET 18T |

Answer Key: A

Q144 Who is called the father of taxonomy :
FATATAT 1 TUATHE fohdt ShgT I & -

A | Engler




TToll

Linnaeus

GIGEL]

Aristotle

REcied

Eichler

D
UeFelX

Answer Key: B

Q145 Edible part of coconut is :
: AT T Wt J9T AETEIATE |

Epicarp

i

Mesocarp

e

Endocarp

TSI

Seed

D
s

Answer Key: D

Q146 Floral diagram represents :
EAEERCRCETC S

Structure of flower

QS hY EI=AT T

Arrangement and number of floral parts

U 19T T HEAT FAUT 3eTehT TaeaTd

Position of flower

qeq S fEfe

All option are correct

b s ArecT T |

Answer Key: B




Q147 Induction of flowering by low temperature in plant is :

S dATIHT TR SUR T dtelt F qouet hr foham gl & -

Vernalisation

THeATRIOT

Photoperiodism

BrdIRASA

Cryobiology

NIV

None of these

D

$TH U IS [aehed el 1e1 |

Answer Key: A

Q148 What is the composition of Lactose :

TS & o § -

Only glucose

el Tefehlot

Only Fructose

FHael harerel

Glucose and Galactose

To[ehiel Ud drelereist

Glucose and Fructose

P aagror e srerer

Answer Key: D

Q149 Formation of vinegar from alcohol is done with the help of :

Tohlge ¥ AR &1 a0 et Hr agraar daa g -

Bacillus subtillis

Ferere gateferd

Clostridium

FarEifsad

X

Acetobacter aceti

THedFR vers

D | Azotobacter




U ISy

Answer Key: C

Q150 The method of raising new plants from a small plant tissue over a culture medium is called :

I GEUA ALTA A BIC UCT 3dF & aRT 3T N1 IR T FTaT g a3 Fgad & -

Micrografting

ATSShIaTeT

Micropropagation

ATSHIYTINAA

Callus

Forg

Embryoculture

D[~
ofSa o

Answer Key: B




